(3) ' MAT-1
Sifgw Trgar ahan
MENTAL ABILITY TEST

T US-US | FeT 50 WA § | U U TH AF #T ¥
THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

W9 (1-4)/ Questions (1-4)

frdwr : yv 1 Q@ 4 9% uw o U FER-A00 § M ¥, T 0 g @ ¢ T we gue
fag (2 ) @ soiar m@n &1 9F U5 3@ S00 & AR @ T Aw fawedt 7 ® wF ) w8 e W
v

Direction : In each of the questions 1 to 4 a letter series is given with one term
missing shown by question mark ( ? ). This term is one of four alternatives given under
it. Find the right alternative. -

1. G, KO8 2,

(1) ) W 3) Vv @ X
2. DX, HT, KQ, OM, ?

(1) sJ (2) RK 3) Q (4) RJ.
3. H,DAYX ?

1) X 2) W @3 T @) V.
4. KLE,IND, GPC, ? , CTA.

() DRB (2) BSE (3) ERB (4) ECR.

W1 (5-8)/ Questions (5-8)

fiifwr : wwT 5 ® 8 % vAE 1 U geI-gont & W &, fred t ow o @ e o g
fag (?) | <9 mn ¥ 9F U 39 A0 F A A 9w fawedt 7 @ o ¥ W feew I
FHifoTa |

Direction : In each of the questions 5 to 8 a number series is given with one term
missing shown by question mark ( ? ). This term is one of the four alternatives given
under it. Find the right alternative.

5  4,9,25 7,121, 169,

(1) 36 2) 49 (3) 64 4) 81
6. 1,3,7 13,21, ?, 43,57 _

(1) 31 2) 29 (3) 30 (4) 32
7. 5,3, 10.8 17,15 2. 24. :

(1) 25 (2) 23 (30 26 ' 4 27.
8. 97 77,59, ?, 29,17.

(1) 34 (2) 39 (3) 37 (4 43.
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MAT-1 (4)

9. Hid @ @ wed F < w3 Ik < Frsed 1w i ¥ RE R el w6 o wer
AT 8, ot € o welw qedl @ i vl g €1 Pt 1 emgds v 98w
Fite fF o f=rd K W o @ ok S w9 SR S 3, 9% 9%
;T aw | e at
FUT () : @ AiEem, Sfgme €1

(M : FO Hieemy, foke &
Frend : O - ad ffe ateens, gfeae €1
(m : o g, afeemd €
(1) hact f=hy | 9 &
(2) Fact ke 11 T €
(3) SHIfFe I e EEE
(4) A Frepd 1 @R A g e 1w #)

In the given question there are two statements and they have two conclusions
I and II. You have to take the given statements to be true even if they seem to
vary to commonly known facts. Read the conclusions and decide which of the
given conclusions logically follows from the two given statements even
disregarding commonly known facts.

Statements : {Ai) : All women are intelligent.
(i) Some women are educated.
Conclusions : (I) All educated women are intelligent.
(I) : - All intelligent are women.

- {3}  Only conclusion [ is true
(2) © Only conclusion II is true
(3) Both conclusions [ and II are true
(4)  Neither conclusion I nor conclusion Il is true.

10. i‘aﬁnﬂmﬁwméﬁ‘raﬁ“:aﬁ?nﬁﬁnﬁ%mﬁmm%%:ﬁﬁﬁﬂq
% ‘TEe’ el ‘HEAR
FU : G U A9 Hodiehd JUITel 1 e W) W @] HET =i |
& () @, g€ e o |air faerE § 9EEE g
() Y, 9% R W IIE R e |
(1) o1& 11 SH yeaef & (2) < 19 I SFl HHAR &
(3) @ | W& & & & 1l HHIR & (4) % | FHSR & T T 1 oA T

NTSE(l)/ 18 - MAT-610-A



(5) MAT-1
In the given question, a statement is followed by two arguments I and II. You
have to decide which of the following arguments is 'strong' or 'weak'.

Statement : Continuous and comprehensive evaluation system should be
implemented at school level. '

Arguments: (I) Yes, it helps in all-round development of the child.
(II) No, it puts more burden on teachers.

(1) Arguments I and II both are strong

(2) Arguments I and Il both are weak

(3) Argument I is strong and II is weak

(4) Argument | is weak and Il is strong.

11. &2 ™ v d o F F 0 G w0 G T € I o W e w1 g
it |

wo : o o s
FWOT  : FEe A S @ @Rt 7 e e @
(1) Y 3R HR0T I T § (2) 9 G ¢ AfHT FROT ITHA ¢

(38) HUA IFEH ¢ AR BRI T & (4) FUF AR FRO AT A ¢ |

In the que-s'tion given below, a statement is followed by a reason. Choose correct
option for them. -

Statement : Narmada river flows to west.

Reason : Narmada river falls in the Bay of Bengal.

(1) Statement and reason both are true

(2) ~Statement is true but reason is false

(3) Statementis false but reason is true

(4) Statement and reason both are false.

12. f9 d | S99 97 SR@ 99, FR F a4 B Té T H IR H E 2

Which of the following Venn diagrams correctly represents Bus. Car and

Vehicle ?
M) @) @ O
a) @
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MAT-1 | (6)

13, 7 | @ SR 9 SR WS 1, IS T W G Bl el T H WG Bl 2

Which of the following Venn d1a.grams correctly represents white colour, clot.hes
and natural flowers ?

(3) | @ OO0
W¥T (14 -15) / Questions (14 - 15

feat T a9 s F 500 S § | e FaE, Wﬁﬁﬁaﬁtnﬁmﬁw‘rﬁﬁﬂﬂm
W ST S G TR ¥ 39 SE % SER W W 14 3R 15 FT IR |

Out of 500 students, the following Venn diagram represents the number of students
who got Distinction in Physics, Chemistry and Maths subjects. Answer Q. 14 and
Q. 15 based on Venn diagram.

Chemistry a! Physics

Maths

4. s fase 3R T QT fawat § e drar s et w0 g e g, s
T fas fame o favty g wre oEt w weafer e e S 2

How many students got Distinction in both Physics and Maths subjects, when
the students who got Distinction in Chemistry subject is not included ?
(1) « 26 (3) 15 (3) 28 (4) 24.

15. AR el | foe argar ur STt sl ST s 2

What is the percentage of students who got Distinction in all the three subjects ?
(1) 28% (2) 35% (3) 38% 4) 40%.

WS (16 - 17 ) / Questions ( 16 - 17)
frdwr : U9 16 9 17 & o foereu forlt gfic & w9 €, nﬁw%mﬁﬂmilm
foreheq T #¥ W& I i@

Direction : In questions 16 and 17 three alternatives are alike in a certain way but
the rest one is different. Find out the odd one and write correct answer.

16. (1) 3= / Afghanistan (2) e / Kabul
(3) ¥ / Spain (4) ¥ / Iraq.

NTSE(I)/ 18 = MAT-610-A



17.

18.

19.

20.

21.

22.

(7) MAT-1

(1) 1 | (2) 729

(3) 144 (4) 64

‘A+BH T A, BH & ‘A= B'ﬁraqeia Baﬁt:%r%mam}? Qmwaﬁi
g 2

‘A + B means A is the son of B. ‘A - B’ means A is the wife of B. Then what does
P+ R- Qmean ?

1) © PwLiga g / Q is the father of P
2) QPHFTAR/ Qis the son of P
(3) R QI f&r & / Pis the father of O

(4 R,QW‘F%'/Risthesonon.

TEF A AT F AR AR P, QR SR T S e 9 s T F W &I R PF 3%
TR AR ¢, 3R S F I AR F T WA W B TPETS‘QSEi’IHﬁFIﬁ%IR%ﬂTﬁW
TEARSHE 2

P, Q, R, S and T are sitting around a circular table facing centre to the table. R is
just the right to P and is second to the left of S. T is not between Pand S. Who is
second to the left of R ?

1y © 2 S

3 T 4) P

Ao W o L, o W oA w, = W oa o AR § oW o ow @, A

27 > 81 $ 9 < 6 I JF T 8 ?

If ‘<’ means ~’, >’ means ‘+’, ‘=" means ‘«’ and ‘¢’ means ‘+’, then what will be the
value of 27 > 81 $9<6 ? '
(1) 6 (2) 36 3) 30 (4) 54.

TR F 9R - e fadr A= 2 m €1 6 % faud werw o ee-d gEn g 2

The four different positions of the dice are given below. Which number is on the

face opposite to 6 ?

(1) (2) (3) (4)
1y 1 2 2 3) 3 4) 4.
T 8 [t =T oot 31 U i Wit T T ¥1 3 2 T oo aret wue A A forfor
foran e €1 3 9 e w9 O € et ot e i R 2

All faces of a solid cube of edge 8 cm are coloured. It is divided equally in the
cubes of edge 2 cm. How many cubes will have all faces coloured ?
(1 1 2y 0 ~(3) 8 4 4

NTSE(l)/18 - MAT-610-A [ P.T.O.
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23.

24,

25.

26.

27.

28.

af el g2 Wi # ‘SOLID’ # ‘HLORW' fovar st &, & 3%t g s 3 Gas
forar smam ' |

In a coded language the word ‘SOLID’ is written as ‘HLORW’, then in the same
code language ‘GAS’ will be written as

(1) THZ , 2 TYI (3) TZH (4) ZHT
fs fordit e w1 | 1= 9 UF GIRL = 46 &, df BOY = ?

If inacel"tajn codel=9and GIRL = 46, then BOY =?

(1) 37 2) 39 - (3) 24 @) 42
o 4T, S O ) wd , A Go  we @ e § 2

If Ranjana is the sister of the.son of Sohan's son, how is Ranjana related to
Schan ?

(1) T/Daughter | (2) W@/ Sister
(3) WH/Granddaughter (4) =mET/Uncle.

o S e @ @ e R R @ oRed we o, o Swg R 9w e
SRR 2

If North direction is called East and South direction is called West, then what will

be called North-East direction ? |

(1) IW-Yd/North-East | 2) gé—zfém/East-Sou&
(3) uf¥am-3RUT/West-South (4) w—qﬁﬂn/Nonh-West.
A el T s & ST S 3 Reed g O) @, R s 2 @ 2

How many pairs of successive numbers have a difference of 2 in the following
sequence ?

6,4,1,2,2,8,7,4,2,7,5,3,8,6,2,1,7,0, 4, 1,3,2,8,6

(n 4 2 S (3) © @ 7

Frefiam ) ket s s e

‘A— @ B_ PRA®EI C— fafke® D— §@R E— WA oW

Arrange the following in a meanihgful sequence :

A — Medicine B — Diagnosis C — Doctor =~ D— Fever E— Recovery |

(1 DCABE 2) DECAB (3) DCBAE 4) CDBAE.
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29.

30.

(9) MAT-1

feft T foredt A @ o WE@W (7 ) B WA HAG, Falk AN spiad d wHA e
AT T B

Find the missing number ( ? ) from the given alternatives, when same rule is
applied in all three situations.

5 21 | s1

16 |109]| 2 225319 17| »? | 48

6 15 13
iy 7 2) 25 @) 49 (4) 129.

5 e T @S IEE O | wefke ¥, 39 R w ww f § | e @ gdia
g ?

‘As ‘part’ is related to ‘whole’, in the same way an ‘Arc’ is related to which of the

following ?
(1) 34/ Rectangle (2) d9x/Circle
(3) ﬁ‘ﬂ?l/’[‘riangle 4) ?;Tﬁ/ Square.

WS (31 - 34 ) / Questions ( 31 - 34

frder : WY 31 @ 34 @ § fasi & o 9 &, B v we =) wnen-far @ gt ®t st
Fed ¥ gn-faa wh #9 4 OF % 9% UF W g §) ! S-f A 4w o fa
< &, o we-fet 7 R s s o1 w1 W gw-fa g

Direction : In questions 31 to 34 there are two sets of figures. One set contains
problem-figures while the other has answer-figures. There is a sequence according to

which the problem-ﬁgures are arranged. You have to select an answer-figure which
can be added in sequence with the problem-figures. Choose the correct figure.

31.

32.

33.

que-fax / Problém—ﬁgures IW-TaF / Answer-figures
Oolola| LA
(a) (B) (C) (D) (1 (2) (31 4@
uwEr-faa / Problem-figures W-FEH / Answer-figures
(A) (B) (C) (D) (1) 2) (31 (4)
m-fiﬂ / Problem-figures I-T9T / Answer-figures
(A) (B) (C) (D) (1) (2) (31 (4l

NTSE(l)/ 18 - MAT-610-A [ P.T.O.



MAT-1 (10)

34. ®ET-f9A / Problem-figures Fue-fad / Answer-figures
. Rl [=] o A - 1
A | o A '
« A L]A ; . L_D J_g O] AO
(A) (B () (D) W @ 6

WS (35- 38 ) / Questions ( 35 - 38 )

e @ o 35 @ 38 1 yeiw A UR faa A TR ¥ 3 @ R mhﬁﬁﬁaﬁﬁaﬁrh
Wﬁﬁaﬁaaﬁ‘gﬁﬁl

Direction : In questions 35 to 38 there are four figures given in each. One of these
does nof correlate with the rest of the figures. Select that odd figure.

ss. |(C|J|S|U

(1 2 3 4

. [CHEIETE

1 2 B @

w | ALQ VB

(2 (3) (4

A 1IN 4|
38. N | [N | A1 )
1 2 @ (9
W (39 -40) / Questions ( 39 -40)

v Wagﬁmmﬁﬁﬂémmaﬁﬁwuﬁﬁﬁrmﬂﬂﬁq mﬂwﬁﬂéﬂ@fﬁ%
Tt 3R gt

Direction : In questions 39 and 40, _ﬁ.nd the correct mirror image of the given figure,
when mirror is placed on right side of the figure.

39. STOP .
(1) 2To9q 2) 90Te 3 9TO®B 4) POTS
40. W¥A-3THId / Question-image IW-AHIA / Answer-image
ot | NMERIBEIRE
oA = ol [V o] [alo

1y @ 3 4

NTSE(])/ 18 - MAT-610-A



| (11) MAT-1
e {4:-42 ) / Questions (41 - 42 )
e : W 41 7 421 @ T et w1 w8 o shife iR
Direction : In questions 41 and 42 select the correct water image of the given figure.
41. W¥E-3MHM / Question-figure
(2o
W—H@%‘Eﬁ | Answer-figures

SO O LR OO

42. m-ﬂlfﬁl / Question-figure

XTW4 _
I-3THAr / Answer-figures
() Ximd (2) XTM4 (3) Xiwd 4 Ximt

WS (43 -44 ) / Questions ( 43 - 44)
firdr : o TR uRERl v o 9e R mn 8, B T T & arfew Aier 9, o 9
T B et a@ﬁrm—n@ﬁﬁ#aﬁq—:ﬁs’nﬂ ¥

Direction : A square transparent sheet with a pattern is folded along the dotted line.
Which of the following answer figures is formed aftcr folding the transparent sheet ?

43. IR O [ Transparent sheet W—ﬁﬁj Answer-figures
‘e .l J E . g - Ei
(1) (2) 13) 4
44,  URGEY UF / Transparent sheet E_Trﬁ-ﬁl'ﬂf / Answer-figures
(1) (2) (3) (4)

NTSE(l)/18 - MAT-610-A [PTO.



MAT-1 | (12)
W (45 - 46 ) / Questions ( 45 - 46 )

Py + it fog o For e S SR @ E B e e (Wi &) v IR sy o
¥ 3 39 WE IF B W |

Direction : In the following figures there is a question figure, which is embedded in
one of the answer-figures. Trace out the cdrrect figure.

45. W-N@Tﬁf / Question-figure A 3?!?31135%’&? / Answer-figures
) (2) (3) (4)

46. W-?ﬂé‘?ﬁf / Question-figure . W—H@ﬁﬂﬁ / Answer-figures
(1) (2) (3) - {4)

47. wA-u1 I-Foa 5@ T Afgam-fom wt i wom 2

Which of the answer-figures completes the given matrix figure ?

RIAEIRYE
RN
L
® zﬁzo*i180&“4*5=1;§)ﬁ,a}7*7wn:;rm-? i

If20 * 3 = 180 and 4 * 5 = 100, then what is the value of 7 * 7 ?

(1) 21 ‘ 2) 49 (3) 343 @) 7.

NTSE(I)/ 18 - MAT-610-A



(13) MAT-1

49. R & W FApfa § it B dEAr R

Determine the number of squares in the following figure :

(1) 14 2 9 3 10 4) 16..
50. 9 fed  fa ¥ wHaW W @ AT it W& TARY

How many cubes are laid on é.plane as shown in the following figure ?

T

1 14 @ 12 3) 10 @) 8.

NTSE(l)/ 18 - MAT-610-A [ P.T.O.



LCT-2 _ (10)

Language Comprehensive Test

Subject : English

There are 50 questions in this paper. Each question carries 1 mark.

Direction for Question No. 1 - 5 : Read the passage and answer the questions based on it

Of all the trees of southern Asia, the banyan is unique, not only for the
manner of its growth, but for the area of shade it provides from the burning sun.
Its close relationship with man has evolved over the years to make the banyan a
popular meeting place, a focal point of worship and a source of practical materials

for commerce.

Known as the 'Strangler fig' because of its unusual manner of growth, the
banyan is an epiphyte or air plént, that has its birth in the branches of a host
tree and lives on airborne moisture and nutrients. Banyan seeds are deposited by
birds, bats or monkeys in the rich soil collected in the crevices of host tree

branches.

As the banyan grows, it sends aerial roots down the trunk of the supporting
tree. In time, the roots that reach the ground choke the host tree by preventing its
trunk from enlarging. The two best known species of banyans are : the Indian,
one of the world's largest tropical trees; and the Chinese, a smaller species with

fewer aerial roots.
1. The banyan tree is unique for
(1) it grows in southern Asia
(2) itis a small tree
(3) its growth is unusual and it gives shade for big area
(4) its fruit is very big.
2. The banyan tree is a focal point of worship for
(1) birds (2) wild animals
(3) nature (4) man.
3. Owing to its unusual manner of growth, the banyan tree is called
(1) a place of worship (2) a place of rest

(3) a strangler fig (4) a tree of beauty.

NTSE(I)/18 - LCT-611-B
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113 5

12.

{ 1) LCT-2

The two species of banyan trees are
(1) the Indian and the Chinese

(2) the shady and the big

(3) the aerial and the land

(4) the host and the guest.

The aerial roots ... the trunk of the host tree.
(1) support (2) grow

(3} choke (4) enlarge.
Choose the correct options to fill in the blanks :

A doctor o the patients but God cures all.

(1) treating (2) treated

(3) ftreats (4) had treated.
While ...ooooviiierenn, basketball Sunil was badly hit.

(1) play (2) playing
(3) played (4) had played.
..................... slow, this is school area.

(1) Drive (2) 1Is driving
(3) Drove (4) Driven.
'Applaud' means

(1) remark (2) backbite

(3) consent (4) praise.

Find the odd one out.

(1) advance {2) promote

(3) forward (4) farther.

The new Slogan ... i by our school teacher last year.

(1) is given (2) is being given

(3) was given (4) was being given.
The notorious band ...............ceunes today.

(1} has been arrested (2) had been arrested
(3) was been arrested (4) will have arrested.

NTSE(])/18 - LCT-611-B [ P.T.O.
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13: " Letthe picthure s, ;

(1) is hung . (2) being hung

(3) be hung (4) been hung.
14. Those cars .......coocvevvnnnnn. by robots years ago.

(1) are being built (2) are built

(3) were built ' (4) had built.

15 The sages said, "You will be winner".
Thesages said venamnsina 4
(1) if he would be winner (2) that he would be winner
(3) that he will be winner (4) that they would be winner.
16. Sarla said to me, "I need your help today.
sestlatold 08 s enmaaress .
(1) that she needed my help that day (2) thatI needed her help that day
(3) that she needed your help that day (4) that you needed my help now.
17. The policeman said to my mother, "May [ help you ?"

The policeman asked my mother ........................ .

(1) if she need his help (2) may he help you
(3) that he might help her (4 if he might help her.
18. The landlord commanded, "You .................vens not enter my house again."
(1) can (2) shall
(3) may (4) could.
19. One.............eovcevvveeee... be punctual.
(1) can (2) may
(3) should (4) will.
20. The synonym of 'benevolent’ is
(1) honest (2) holy
(3) generous (4) cruel.

21. The antonym of 'realistic' is

(1) 1maginary (2) true

(3) reliable (4) authentic.
22. Gold and silver ..........occoviiiinienann.. precious metals.

(1) 1s (2) are

(3) was (4) am.

NTSE(I)/18 - LCT-611-B



(13) LCT-2
23. The wages of SIN ........cooevvniiennninne death
() 1s (2) are
(3) were (4) am.
28. Arupee has ....couunemsmmmmeseans hundred paise.
(1) the 2 a
(3) an (4) any
25. Please give e ..q.cisoissfssseives more tea.
(1) few (2) many
(3) some (4) any.
20: "How . ammssemsas money do you need ?" she asked the boy.
(1) many (2) some
(3) any (4) much.
27. The correctly spelt word is
(1) comepasion (2) compassion
(3) comepation (4) compasion.
28. The correctly spelt world is
(1) depandence (2) deppendance
(3) dependence (4) dependance.
29. The Piper stepped ......cccccccieininienn the street.
(1) on (2) in
(3) into (4) for.
30. The sailors sailed .......covuvvvimeinnn. the river
(1) on (2) down
(3) below (4) above.
31. The ma_jl train is due ... 3pm
(1) on (2) of
(3) by (4) in.
32. The tiger is now confined .............lccc e national parks.
(1) to (2) off
(3) at (4) of.
33. He learnt to play physical games, .............ccoieiiinen ?
(1) did he (2) didn't you
(3) doesn't he (4) didn't he.
NTSE(I)/18 - LCT-611-B [ BT.O:



LCT-2 (14)
34. Iain't interested in video PEEE, v sussmsossvmasms ?
(1) isyou (2) aren't you
(3Y aml (4) are you.
35 Bejustaasmmemainains fear not.
(1) or (2) but
(3) and (4) if.
36: ‘Cateh Me npmawsnaas you can
(1) or (2) but
(3) and (4) if.
37. Nalini's grandfather died ...........coooevniiinins she was born.
(1) but (2) before
(3) and (4) so.
38, The police caught the thief .......cocoiciini looted travellers in the passenger
trains.
(1) which (2) whom
(3) who (4) whose.
39.  The king was happy .oiseiioina. people gave him gifts.
(1) where (2) when
(3) whom (4) who.
40. She broke the glass .........ccoevvinnnnees was Very expensive.
(1) what (2) how
(3) who (4} that.
Rcorder the words to make sentences :
41. is my democracy / ideal / political
(a) (b) (c) (d) (e)
(1) (&) () (b) (e) (d) (2) (b) (e) (d) (&) (o)
(3) (d) (b) () (a) (c) (4) (a) (d) (e) (c) (b)
42. [deal were as an / couple my parents regarded
(a) (b) (c) (d) (€) (f
(1) (e} (b) (O (o) (a) (d) (2) (o) (a) (@ () (e) (b)
(3) (b) (d) (a) (e) (f) (c) 4) (e) (@ (O (c) (a).(b).
43. The model we / the outlook of changed
(2) (b) (c) (d) (e)
(1) (b) (a) (e) (d) (c) (2) (d) (a) (e) (c) (b)
(31 (b) (¢) (c) (d) (a) (4) (@) () (c) (b) (d).
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34, 1 ain't interested in video games, ............cooeeniennnn. ?
(1) isyou (2) aren'tyou
(3 aml : {4) are you.
35. Bejust.......ccoceniiiininnnn fear not.
(1) or (2) but
(3) and : 4) if.
36. Catchme .......cooeniiniinns you can.
(1) or (2) but
(3) and (4) if.
37. Nalini's grandfather died ...............c.c.h. she was born.
(1) but 7 {(2) before
(3) and (4) so. _
38. The police caught the thief ............ccocoeiiiins looted travellers in the passenger
trains.
(1)  which (2) whom
{3) who (4) whose.
39. The king was happy ......cooovevveeeneenns people gave him gifts.
(1) where (2) when
(3) whom (4) who.
40. She broke the glass .............cooeevenne, was very expensive.
(1) what (2) how
(3) who (4) that.
Reorder the words to make sentences :
41. is my / democracy / ideal / political
(a) (b) () (d) (e)
(1) (@ (¢ (b) (e) (d) (2) (®) (e} (@) (&) ()
(3) (d) (b) (e) (&) (c) 4) (2 (d (e (c) (b)
42, Ideal were as an / couple my parents regarded
(a) (b) (c) (d) (€) - ®
(1) (&) (b) (O (c) (a) (d) (2 (o) (@) (@ (O (e) (D)
(3) (b) (d) (a) (e) (B} (o) ' (4) (e) (d) (O (o) (a).(b).
43.  The model we / the outlook of . changed
(a) (b) (c) (d) (€)
(1) (B (a) te) (d) () (2) (@) (a) (&) (o) (b)
(31 (®) (e (o) (d) (a) @ @ (@ (e () ()
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44,

(15)
The correct suffix that goes with the word 'charge’ is
(1) - ment _ (2) -ity
(3) -ish (44 - able.
The correct prefix that goes with the word 'legal’ is
{f) un- (2) in-

(3) it- (4) im-

LCT-2

For Question Nos. 46 and 47 choose the correct meaning of the given phrasal verbs :

46.

47.

48.

49.

'Call for'

(1) shout (2) allow

t3) require (4) give.

The company 'turned down' his application.

{1} rejected (2) puton table
(3) accepted (4) entered.
The correct example of homophones is

(1) care - cure (2) liar - layer

(3, except - accept (4) gold - glad.

A person who seeks to promote the welfare of others is

(1) atheist (2) philanthropist
(3) fatalist (4) pessimist.

A poem consisting of fourteen iambic pentameter lines is

(1) lyric (2) ballad

(3) ode (4) sonnet.

NTSE(])/18 - LCT-611-B
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S grrgar Ter

SCHOLASTIC APTITUDE TEST
39 U¥H-TF | Fel 100 WA | WRAH UIT TH A H T
THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

L S e g e R Y (o B e 3d) ) @ W R e e
J R = TR e ¥ 2 |

! il t
- tﬁﬂ (B) |§ (©) E
T —> _ {9 —> T9q —
1 1
D) (E) E
(1) 9 D 2) DIE
(3} A BTEC (4 AdTD

Consider the following five graphs ( note the axes carefully ). Which of the
following represents motion at constant speed ?

=
! 1 g
o
e o E
& 3 B & © 3
a » o
ey
Time —> Time — Time >
1 !
& ko
8 - b}
D) =< E <
> S
<
Time —» Time —>
(1} Donly (2) Dand E

(3) A, BandC A and D.

—
b
—
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SAT-3 (4)

2.

10 FreiaT # TF S5 @ 50 UH FAEA N T el 100 ms™ ! % T I
SISt 9 & | 5 & Ui e T A A 2

(1) 100ms™ ! (2) 500 ms!

(3) 05ms ! 4 I |

A bullet of mass 50 gm is horizontally fired with a velocity 100 ms™ ! from a gun
of mass 10 kg. What will be the recoil velocity of the gun ?

(1) 100 ms™! 2) 500ms '

(3) O05ms ! (4)  Zero.

o % F R AR 97 & IR FW B SR HE @ € A 100 HiEX
sty SO W Gged ¢ laﬁ@ﬁaﬂm&mmaﬁmaﬂﬁmm%a}
¥ T FRT W Sfuehad SHerE s

(1) 707 "X ) 141-4 HeX

(3) 200 HE 4) 400 TR |

A ball is shot vertically upward with a given initial velocity. It reaches a
maximum height of 100 m. If on a second shot, the initial velocity is doubled
then the ball will reach a maximum height of

(1) 707m (20 14144m"

(3) 200m (4) 400 m.
aﬁg&aﬁaﬂmﬂﬂMﬁmﬁmRﬂmﬁﬁaﬁ%ﬁgﬁrwwya
A &

1 R*/M 2) M/R?

(3) M/R 4) R/M

Let M denotes the mass of earth and let R denotes its radius. The ratio g/ G at
earth's surface is ;

() R%/M 2) M/R?
(3) M/R 4) R/M
T god 99F &

(1) S @ wwvE!
(3) #RX (4) HL
The unit ‘hertz’ is same as.

(1) second (2) second™ !
(3)  metre 4) metre™ .

NTSE(I)/ 18 - SAT-612-C
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6. fodt wafy i @ amaft 10 kHz UF TR 3 mm ¥ | 3tﬁaﬂaﬁﬁa3ﬁmm
T o 2 |
(1) 019FUE (2 19%v8
(3) 10 WU , (4) 001 ¥FTS |
A sound wave has a frequency of 10 kHz and wavelength 3 mm. How much txme
will it take to travel 3 metre ? '
(1) 01 sec B (2) 1 sec
(3) 10 sec (4) 001 sec.
7. el STt dor g1 ST SRR T SR R % SR & 9 3, @ R
s #irh .
(1) FX _ 2) FINCcFIH
(3) CW (@) CcHR I FH A |
The size of image formed by a concave mirror is same as the size of 6bject. The
position of the object will be
(1) atF . (2)  between Fand C
3 atC ' (4) between C and infinity.
8. UH 301 o1 W Bihd U 30 9 ¥ | AR O fow 3w 15%@%@??1%
o FRT 30 S €
(1) 666 ' 2 05
3) 1 \ (4) 2.

A convex lens has focal length 30 cm. If an object is placed at a distance of
’ >

15 cm from it then the magnification produced by the lens is

(1) 666 ' @ 05
N | ' 4 2.
9. U IIeih AR H forggd WA K ¥ 1 A S o Ud S e Sawet i |
T I S O 7! 7§ Sfereehen gt
(1) K 2) 2K
3) K/2 4 K/4

The electrical resistivity of a coniducting wire is K. If its length and area of cross-
se€ction are doubled then the new resistivity of the wire will be

K 2 2K
(3) K/2 4 K/4.

NTSE(I)/18 - SAT-612-C S '[P.T.O.
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11.

12.

T IR § AT 5 T o WY @R 2

la 20
Q2
A :l.wv 5 ?‘3' B
la 28
(1) 100 | _ 2) 40
14 17
4 -
@ Lo o w e
What is the equivalent resistance of the given circuit between points A and B ?
1a 29
i N
A - '!'-""I"" "3'.% ‘?’"“?" B
L8 29
(1) 100 ' @ 40
15 17
@ £o @ o

100 2 & 4 S FAF 6 B WRIRA T T ¥ 1 5 Bo WY kwh B T @ 30 R
aﬁaﬁﬁ%%{qaﬁﬁmwww%) |

(1). 360 %o (2) 90 &o

@) 120 To 4) 400 %o,

4 bulbs rated 100 W each, operate for 6 hours per day. What is the cost of the

energy consumed in 30 days at the rate of Rs. 5/kWh ?
(1) Rs. 360 (2) Rs. 90
(3} Rs. 120 (4) Rs. 400.

mﬁ%}mﬁﬁqaumw%aa’rﬁﬁ% lﬁaaﬁaaawqmaﬂaww”rwﬁ%

€, el FU R}
A

e

v

(1) gt fosifoe =& et
(2) I T & gE fanifya el

(3 a e e R s g
. g gedl [9aRa feen o fosifaa & o
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An electric current is passed through a straight wire. Magnetic compasses are

placed at the points A and B. True statement is
A
Be

>
>

(1)  their needles will not deflect
(2) only one of the needles will deflect
(3) both the needles will deflect in the same direction

(4) the needles will deflect in the opposite direction.

s A e R e R S R % v @ e & s R g
et forg x @ w79 bt o7 farg v b el & 2

= *Y - Y
(M I
- X E X :

*a /Y o
@ a9y & . 4 =g l
X X

Which diagram below illustrates the path of a light'ray as it travels from a given

point X in air to another given point Y in glass ?

. .
glass £ Y glass |/Y

(1) i @ -
X | X
glass 3% Y

glass

(3) air ()] air

X X
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14.

15.

16

17.

sreiiferiaa sifufrar & Hel 1 9gH &R €
HCl (aq) + H,0 - CI™ (aq) + H,0"

(1) 'HR0" 2 H,0

@ o ' 4) HCL

Conjugaté base of HC! in the following reaction is
HCl (aq) + Hy0 - Cl™ (aq) + H,0"

(1) HZO" (2} - H,0

@y er (4  HCL

R 3% IR T TWEE T T

(1) CasO, 2  CaSO,.2H,0
(3) CaSO,.%2H,0 (4 CaSO,.H,0.
The chemical formula of Plaster-of Paris is

(1 €aSo, o3 2) CaSO,.2H,0
(3) CaSO,.%H,0 - (4)  CaSO,.H,O.
aifetEa aitafshar & wdHier fhg whR 1 3aRE € ?
CHCL, + 0, —25°% , 9¢0Cl, + 2HCl

(1) YIS IORE 2 RO IORE
(3) a-IoREH : (4) . @ IORS |

Which type of catalyst is ethanol in the following reaction ?

cHey, + 0, —2"M , 5coct, + 2HC

(1)  Positive catalyst ) Negative catalyst
(3) Bio-catalyst 4) Autocatalyst.
areitfefad § ¥ 39U & '

(1) iR @ T

(3) wifead | (4) . Taferra
Metalloid among the following is -

(1) lithiﬁm ' (2)  sulphur

(3) sodium . 4) silicon.

NTSE(I)/ 18 - SAT-612-C
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(9) SAT-3

CH
3 _
cH,, ~>C = CH, 5y [ypAC M &

(1) 1, 1-SEAEA-2-TdH 2) 2-Afe-1-md9E

@) 2, 2-sEafer i @  2-9fe W23 |
CH .

The [UPAC name of CHz —>C=CH, i

(1) 1, l-dimethyl-2-cthene  (2)  2-methyl-1-propene

(3) 2, 2-dimethyl ethene (4)  2-methyl prop-2-ene

to e anet Td Seamifaci SEEHA & W ¥ o 9gh €

20.

21.

(1)  3TEENE (2 @A

(3) el . (@) HEerE-6, 6.

The polymer formed by condensation of adipic acid and hexamethylene diamine.is
(1) isoprene (2) rayon

(3) terylene 4]  nylon-6, 6.
e e ST FERTEE % M 1 U e ot ot §

(1) W S @) U
(3) doTATEEH! (4 freed |
The me'_chod for separé.tion of mixture of common salt and ammonium chloride is
(1) fractional distillation ~ (2)  sublimation
(3) chromatography | 4) crystallization.
14 gm N, 3] § S H e e
(1) 6022 x 102 2) 3011 x 102
(3) 151 1023 4) 6022 x 10?2

Number of molecules present in 14 gm of N, molecule is

(1) 6022 % 10%° @ 3011 x10%

3 151x10% 4) 6022 x 1022

NTSE(l)/18 — SAT-612-C [ P.T.O.
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22. 2,8, 6 Frfatad § | F8 o #1 e &GS € 2

(1) | (2 SR

(3) HIERRH (4) FEARA |

Which of the following elements has an electronic configuration 2, 8, 6 ?
(1)  Sulphur (2)  Oxygen
(3)  Phosphorus (4)  Chlorine. -

23. aifeifga # § SH-91 dcd WRad-eiier Gaisihdr YSRIg &t € 2
(1) Na 2) Mg
(3) Fe (4) Zn.

Which of the following elements shows variable valency ?

l[l] Na (2) Mg

(3) Fe . 4)  Zn.
24, UeiffrEm sz &1 G &

(1) &1,;(C0o,), (2) ALCO,

(3) AlHCO, | @) AICO e

Formula of aluminium carbonate is

M A, (co,), (2) ALCO,
(3) Al,HCO, (4)  AICO

25, eH-112 HT G &

(1) C,F,Cl, (2) CF,Cl,

(8) CFCl, ' (4)  CCl,F.

Formula of Freon-112 is

() cF.cl, (2 CF,Cl,

@ CFCl, | (4)  CCLF.

NTSE(l)/ 18 - SAT-612-C
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26. @ X FENT & WY AR T I | a0 I e a1 AT S 8

TEX T
(1) WHEfEe 2 &
(3) @A @ e

The element X reacting with chlorine forms a water soluble compound having

high melting point. Element X is

(1) magnesium (2) argon
§3) carbon (4) neon.
27. et % WRR oo & HHA-T1 Seeh @1 SR ?
(1) JE® 2) EFRIT FAs
@) T @  forios
Which tissue is found in fibrous covering of coconut ?
(1) Parenchyma (2) Collenchyma
(3) Sclerenchyma 4) Meristematic tissue.
28. FIH! F FHH B @I H
() TR EH (2 TERES
@) &R s =HA @ =
Nucleus of the cell was discovered by
(1) Robert Hooke "(2) Leeuwenhoek
(3) Robert Brown 4) Virchow.
20, et ¥ @ ww R A ¥ 2
(1) e (2 Rl
(@) WEERFE @) TR
Which of the following is a plant hormone ?
(1) Insulin (2) Thyroxine
(3) Cytokinin (4)  Oestrogen.

NTSE(I)/18 - SAT-612-C [ P.T.O.
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30,

31.

32.

33.

o1 T Il Tl TGS & WR & Uia ifus dagt uky I @

(1) R (2) A

(3) <Remwme (@) fr=rent |

Plant group more sensitive to the levels of sulphur dioxide in air is
(1) Thallophyta (2)  Lichen

(3) Pteridophyta (4)  Gymnosperm.

TEa, FEEER T FTE WIEHt ¥ IR &

(1) SHRET, AT 2  wrdifeEn, g2

(3) FEEH, U (4)  gETHe, TRIFTRAT |

Examples of perennial, evergreen and woody plants are

(1)  Funaria, Marchantia (2)  Marsilea, Horse-tail
(3) Cycas, Pinus (4)  Ulothrix, Spirogyra.
FHITHT I ThId T TG €

(1) Riwesr @ mEEEE

(3) o&h (4)  Titesil M |

Turgidity of cell is maintained by

(1) Vacuole (2) Lysosome

(3) Plastid (4) Golgi body.

FebTRT HYATVT o [Ty Srewas werd Tl &

(1) I & T 2) FEARIGA

(3) FRgH (4) A SEHFEES |
The substance not essential for photosynthesis is

(1) sunlight (2) chlorophyll

(3) nitrogen (4) carbon dioxide.

NTSE(I)/ 18 - SAT-612-C
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(1) TEERE @ TR
@ - (4) g |
The nature of nerve impulse is
(1) chemical (2) magnetic
(3) electrochemical (4) electromagnetic,
35. gRek 31t Iegel] STeil H1 I B
(1) wefer @ W
(3) 3IWAW (4 FWEERT |
The example of uricotelic animals is
(1) fishes (2) reptiles
(3) amphibians (4) mammals
36. WIS ¥ SRR UHETR WO 7 F, WGl T S WET S &
(1) 3:1 (2) 9:3:3:1
@ 1:1 @ 1:2:1
According to Mendel in monohybrid cross the genotypic ratio of F, generation is
() 3:1 (2 9:3:3:1
@ 1:1 4 1:2:1.
37. AT FHsh H I B
(1) sufed (2)  heprer gl
(3) St @ o (4) b S |
Example of connective tissue is
(1) cartilage (2)  skeletal muscles
(3) skin of animals (4) nerve cells.

NTSE(I)/18 - SAT-612-C
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38, 3T 3 ST TWHAYR) F ISRV &

(1) =TS (2 FTE

(3) HIN (4)  Tlehe |
The example of egg laying mammal is

(1) Bat (2)  Kangaroo
(3) Pigeon (4)  Echidna

39, 3THHHE T E

(1) W (2) TH

(3) ImHiEmufEw (4)  difewr |

Non-communicable disease is

(1) Cancer (2) AIDS

(3) Amoebiasis (4) Jaundice.
40. Tog €Y % W] B T € ?

(1) O (2) wrRRE

(3) UTRfcH=IS (4)  TETER |

Animals of which phylum are pseudocoelomate ?

(1)  Porifera (2) Platyhelminthes

(3]  Aschelminthes (4) Mollusca.

41, % 33+*2J';§=a+'/§b #, @ Jarb W T ¥ G S o @ b WY GEAL
€ ?

(1) 5 2) 8

3 2 (4)  16.

If 33* QJ?:aﬂ/Eb, then the value of Ja+b where @ and b are rational
numbers is

() S (20 8

@ 2 (4) 16.

NTSE(I)/18 - SAT-612-C
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32.
p(x%+ x )+ k = 0% o1 §5F &1 ?

(1) k=1, p=4 2 k=2,

B) k=4,p=8 4 k=2

For which positive values of k and p,

p(x2+ x )+ k = 0 have egual roots ?

(2)

(3) k=4, p=8 4) k=2,

SAT-3

k @ p & fod wiome "Al & fou @il ox?+ px+ 8 = o

p=8
=4,

equations 2x2+ px + 8 = 0and

D=8

p=4.

3. TR o, BPRT 2 —p(x+1)-k FEIHWUFRERF (a+1) (p+1)=68

k T | &1

(1 S 2 -1

3 -3 4 -5

If a, B are zeros of polynomial xg—p(x+1)-k suchthat (a+1) (B+1)=6,

then value of k is

(1 5 2 -1
@ -3 4 -5
44. 6'8— 5107 THR F iF TN

(1 s 2 8
@ 1 4 9
Which is unit digit of 618 — 5107

1 S 2 8
@ 1 4 o.

NTSE(I)/18 - SAT-612-C
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45, Fr=1 ofd § QT L PRTYT QS = PS® | A £ TQR = 40° F £ RPS = 20° ¥ Tl x &I
T B

P

(1) 80° (2) 25°
(3) 15° @)  35°
In the following figure QT L PR and QS = PS. If Z TQR = 40° and £ RPS = 20°

then value of x is
P

Q ¥ S R
(1) 80° 2 25°
(3) 15° 4y  35°
46. |HIRR S11 20, 19%, 181, ... %1 HH-91 U, YU FOMHS U & 7

(1) 1873t (2 1578t

(3) 28 (4 274 |

Which term of A.P. 20, 19% ; 18%, ..... is first negative term ?
(1) 18th (2)  15th

(3) 28th (4)  27th.
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48.

49,

(17) SAT-3

12 Hiex St HHR & fawdia ok fem 3 gt @ R & frer & sag S
w'ﬁw%iaﬁ@aﬁrwﬁiﬁaﬁéﬂﬁﬁlemgﬁ,a}@iﬁgaﬁﬁm
& U% | g el

(1) 24 T @ o9t

3) 12 "X @) 18 HRX |

The angles of elgvati'dn of the top of a 12 m high tower from two points in

opposite directions with it are .complementary. If distance of one point from its

base is 16 m, then distance of second point from tower's baseis

" (1) .24 0 ' 2 9m
3) 12m @ T
4 m=£9-3-'ﬂﬁm'n=c—9§—-—é3},'ﬂ}f (m2 +n2)c6325 WE:'T"
) cos B . sin B .
1) m? @ a2
3 m?+n? 3 @ men

cos A ‘cos A 2 gt g
Ifm=mandn=s—in—-§,ﬂlen(m +n )cos B is equal to

(1) m?

_‘(3]‘ m2 + n?
Fﬁﬁmﬁﬁaﬁﬁﬁﬁﬁfﬁrmkgﬁ.ﬁiﬁﬁ?mwmm
.(1) - 2% R 2 3:2

(3) 81:16 -4 16:8L
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50.

S1.

IIf ratio of heights of two similar triangles is 4 : 9, then ratio between their areas
is

(1) 2:3 (2) 32

3 81:16 4 16:81.

10 ¥ B & UF g §, < HAETE AB = AC = 12 cm &, @ & BC #H T
B 7

(1) 128 @ 96 ¥
3) 19-2 {HI @) 72 9

In a circle of 10 cm radius, two chords AB = AC = 12 cm. then the length of the

chord BCis
(1) 12 ¢cm (2) 96 cm
(3) 192 cm 4) 7-2 cm.

10 AN forss Heanat 1 A1 120 &, f 399 9 WoH 5 faw @ears & A 10
g 2

(1) 113 2 115

(3) 114 4) 116

If mean of ten consecutive odd numbers is 120, thén the mean of first five odd

numbers among them is
(1) 113 (2) 115

3 114 (4 116



(19) | SAT-3

52. ﬁﬂ%ﬁ@%ﬁmwwmaﬂﬁﬁ.mﬁﬁaﬁAmpﬁwwﬁ%

a9 ot % < faoRia st s A g A @ T g
_ D c

, . 10 9 B_
(1) gggaﬁwré @) i‘;—oaﬁm%'
@) 990 =i w @ 190 =i |

Find the area of shaded region, where side of square ABCD is 10 cm and‘two

arcs drawn from two oppoéite vertices of the square.

D o

@ 10 cm B
(1) &,f.‘)sq. unit (2) igg-sq. unit
(3) —f-’gsq. unit 4) -1—,(;9-sq. unit.

53. 14ﬂﬁﬁﬁﬁﬁﬁmmlﬁm%ﬁmwﬁ$m4ﬁw
2 A ¥ | 5 frer i i = a2
() 338 ¥h3 @ 22 w3
(3) 112 ¥t 2 @) _2_29_155@2_
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Find the capacity of a glass which is in the shape of frustum of height 14 cm and

diameters of both circular ends are 4 cm and 2 cm.

308 3 ‘298 3
(1 3 cm 2 51 om
(3) 112 cm? 4) %951 cm?.

54. ﬂﬁﬁ%ﬁiP%”,%ﬁ),ﬁﬁA('s,s)ﬁmB(x,y)aﬁﬁﬁﬁaﬁﬁ%@ABﬁ
2:3 % U ot fawifa &Y Al x q°1 y F T et

(1) x=4, y=7 | @ .x=5 y=o

B) x=7,y=9 4 x=7, y=8.
: 23 33 iy : G : ;
If a point P =505 divides line AB joining two points A (3, S ) and B ( x, ¥ )

internally in ratio of 2 : 3, then the values of x and y will be
(1) x=4, y=7 2 x=5 y=9

3) x=7, y=9 4) x=7, y=8.

55. A Us #iy ay &1 argfas 9o fear mr @), o 39 o o 53 @WaR g @ wifgedn
T gl 2

S @ 3
@ = @ 2=

If a leap year i elected r. lomly, then what is the probability of naving

53 Mondays in this year ?

T 2

w3 @ 7
53 52

©) " 366 @ 365
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56. % fet g #t aRkfy, 30 =@ ¥ 60 A ot @, o 39 g w oy ) e
gt
(1) ld4mcm ' (2) 28 1 cm
(3) 35S mcm 4) 42 n cm.

If the length of circumference of a circle is 60 cm more than its diameter, then

length of its circumference is
(1) 14 n cm (2) 28 n cm

(3) 35wncm 4) 42 7 cm.

57. T & B ABC ® AD 9 BE Biest & miftrend ww g &1 g ¢ W wiqwka
FA & | 3R ABDG I 8% 1 T UHI &1 A 3G DCEG T &GS F1 T 2

A
E
B - c
(1) 2o qm " (2) 3o A
(3) 4= Gt (4) 1t @

In given A ABC, AD and BE are medians of triangle which intersect each other at
point G. If area of A BDG is 1 cm2, then what is the area of DCEG ?

A
E
B D C
(1) 2cm? (2) 3cm?
(3 4 cm? (4) 1 cm?.
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8. 60° 30! T & ¥eqT A A e @ 2

© 121
m 5 @ 35"

1217° ' 121 ¢
@ & @ 555"

What is the radian value of angle 60° 30'?

x 121
O (2) %Fc
1217° 121 _c
®) g0 ® 53"
59. U Ml & | H 25% @ HH HA W IYH TOG Sa%el b dfaerd A &
S 7
(1) 25% 2) 56:25%
(3) 4375% 4)  625%.

The diameter of a sphere is decreased by 25%. By what per cent does its curved

surface area decrease ?

(1) 25% (2) 5625%

(3) 4375% 4) 625%.
60. (x—-y)® + (y—2)% + (z—x) FHAAE

(1) (x-y)° (y-2)° (z-x)°

@ 3(x-y) (y-2) (2-x)

3) L+yd+ z3'-— 3xyz

@) x®+y®+ 2° - 2x%y - 2y%z - 22%.

Valueof (x—y)% + (y-2)° + (z-)c__):"is

(1) (x-y)° (y-2)° (2-x)°

(2 3(x-y) (y—2) (z-x)

3) x+y3+2° - 3xyz

(4) x>+ y3 + 23— 2x2y - 2y23 - 22%x.

NTSE(I)/ 18 - SAT-612-C
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61. qlt-7 F -1 T AT FA T T T H T HIC ¢

-1 qEt-o
(31) TR SR FT HHATH @ 20,1789
(F) S 7 I g3 (i) 4 T, 1789

(®) Wi § Qe sHaReT #1 I9eH (i) 14 [T, 1789

(3) = =K = Oy (ivy 57,1789
<
R L w T
1) i i i iv
@) iv iid ii i
(3) iv i ii i
(4) i iv iii il

Match List-I with List-II correctly and choose the correct code from the

following :

ListI Listll
(A) Meeting of the Estates General (i) 20th g une; 1789
(B) Bastille was destroyed on (i) 4t August, 1789

(C) Abolishment of feudal system in France: (i) = 14t July, 1789

(D) Swore of Tennis Court (ivy 5™ May, 1789.
Code :
A B (o D
(1) i ii iii iv
(2) iv iii ii i
(3) iv i i iil
@ i iv iii i,

NTSE(])/ 18 - SAT-612-C [P.T.O.
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62. R I 9 (o9 el Scramenen anT ferd €, €
(1) @femT (2) IW WA
(3) U= (4) TTEE |
The st;te of India where the Jallianwalla Bagh is situated, is
(1) Haryana | (2)  Uttar Pradesh
(3) Punjab (4)  Rajasthan,
63. 1871 %o T STHAT &1 THIE €1 _
(1) fafeaw wem (2) Auifera= gedig
@) TheRe fafeam aqd (4) T foeta

The German King in 1871 was

(1) William I '(2)  Nepoleon III
(3) Frederik Wllham v (4) Emmanuel II.
64, e S T st e 7 .
(1) SH® : ) Fodo Frpew
@) Thet ¥ (4) S e |
Who discovered the spinning jénny ?- -
(1) JohnKe (2) T.E. Nicholson
(3) Raphael Samuel (4) Jameé Hargreaves.
65. Fmer foure 1 ay o
(1) 1903 (2) 1905

(3) 1907 (4)  1909.
The year of the Partition of Bengal was |

(1) 1903 (2) 1905
3) 1907 @)  1909.

NTSE(I)/ 18 - SAT-612-C
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66. [HfeiRaa o & SF-T1 U 3w e gl o enfirer = v 2

(1) s 2 wH

@ w (4) ST |

Which one of the following countries was not among the Allied Powers. ?
(1} England (2) France

(3) Russia 4) Germany.

67. STICT TSTE ATHeh YTAehT 1 TR Fd & Gl 2
(1) 1750 2) 1780
(3) 1850 (4)  1880.
When was the publication of Bengal Gazette initiated ?
(1 1750 (2) 1780
(3) 1850 (4)  1880.
68. fi fogali W am & ¢
(A)  HETH il 7 78 fovewa FEEe & QY AHE 46 IE # |
(B) 20 3, 1930 FHt TeTe e A 3 H 5 HFA Aver |

19 K2 ™ Fe ¥ GEY I B UG W
(1) %o (A) 2 %W (B)
(8) (A) 3R (B) T Tl (@) T AT

Consider the following points :

(A) Mahatma Gandhi started Salt March with his 78 confidential volunteers.

(B) Mahatma Gandhi violated the Salt law at Dandi on April 20t, 1930.
Choose the correct answer from the codes given below :

(1)  only (A) - (2)  only(B)

(3) both (A) and (B) (4)  none of these

NTSE(l)/18 - SAT-612-C | P.T.O.
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69.

70.

71.

72.

WRA F ST U R g9 % W) e ga 2

(1) TR & 5 2  9HYd & gE

(3) I F g (@  fadr et 450 g9 |
After which war the British rule was founded in India ?

(1) Battle of Sabrao (2)  Battle of Panipat

(3) Battle of Plassey (4) Second Anglo Mysore war.
aHl forver g&1 & oA afifereh WETHE! i YRS g5

(1) 1921 2 1929

(3) 1935 (4) 1939.

‘When was the Great Economic Depression between the two World Wars held ?

(1) 1921 (2) 1929

(3) - 1935 (4)  1939.

< TS & =T fhg =t 2

(1) el 2R (2) T SR

(3) T Tl (4)  SfwH =% g |

Who composed Ananda Math ?

(1) Rabindranath Tagore (2) Munsi Premchand

(3) Mahatma Gandhi (4)  Bankim Chandra Chattopadhyay.

‘@Y’ T S &

(1) 3T 9o0E wow (2) 9K % ge®e o
(3) W & former HeH (4) WEENE R 7 |
Khadar’ is found in

(1)  the northern mountain region

(2) Thar desert

(3) the vast northern plain

(4) the peninsular plateau.

NTSE(I)/ 18 - SAT-612-C
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73. WY TR @ W a9 A€ H I w0

(1) S (2 few

(3) ST (4) sl |

The rising place of the largest river of peninsular plateau is

(1) Betul ) Nasik

(3) Jabalpur (4) Cuddalore.
74. uffed o W ghyor-ufded aHgT @ T eHeTel ast w5

(1) 100 ¥ 150 &I (2) 150% 200 ¥F

(3) 200 ¥ 250 JHt 4) 250 G ® I |

The quantity of rainfall received on the Wéstem Ghats by south-west monsoon is

(1) 100-150 cm (2) 150 -200 cm

(3) 200 -250 cm (4)  above 250 cm.
75. R 5 A Qo A e, WA g g A T E 2

(1) FOERESHE QOO 57 (2) gadE o9

(3) HUE & : (4) FUHETHY YEEER TN |

In which Indian forest are silver, fir and pine trees found ?

(1) Tropical deciduous forest (2) Montane forest

(3) Mangrove forest (4) Tropical evergreen rain forest.

NTSE(I)/ 18 - SAT-612-C [ P.T.O.
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(28)

76. Wt - 1t YAt - 1 F YA I 7Y T FZ F FI HOT -

L T

(1)
(2)
(3)
(4)

et -1
(31) I BN
(%) sfaolt BR
(W) & BR
() trﬁirq"mi?
i a "

£

iv.

et - o
@ 8°4'3e
(i) 37°6'3o
(i) 68°7' Yo

(iv) 97°25'9e |

Match List — I and List — II and choose the correct code from the following :

List-I
(A) Northern end
(B) ; Southel.'n end
(C) Eastern end

(D) Western end

Code :

A B ¢
(1) i i v
@ i i v
@ i i v
@ i i i

NTSE(])/ 18 - SAT-612-C
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iv.

List-I
@ 8°4'N
i 37°6'N
(jiiy 68°7'E

(iv) 97°25'E.



77.

78

79.

(29) SAT-3

fre &/ -97 T TG A IR T § 2

(1) I WA @ ST

(3) dRem I (4) T

Which of the following is the major sugarcane producing state ?
(1) Uttar Pradesh (2) Rajasthan

(3) West Bengal (4)  Madhya Pradesh.

3 % SR § fre @t % weeyet e o o € 2

W) et s @ e

(3) .' GIE (4) SEEEC 1

Important deposits of which mineral are found in Koraput in Odisha ?
(I) Iron ore 2) Coal

(3) Copper (4)  Bauxite.

el T W e we e e o e g 2

(1) 1853 (2) 1854

(3) 1855 (4) 1856,

In which year was the first successful cotton textile mill established in India ?

(1) 1853 (2) 1854
(3) 1855 (4)  1856.
SRt FEE A 2000 F Wl @ &

(1) Tr¥ges |

() emfeal & gesRr e
3) Forep oo X H 30  FH FAT
(4) IR & R G |

‘SE(1)/18 - SAT-612-C [ P.T.O.
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Indian population policy 2000 not includes
(1) free education
(2) free frorﬁ ﬁwases
(3) reducing infant mortality rate below 30
(4) increase .the employment opportunities.
81, T wer & T areh et ke e S &
(1) TETERY — R — TETEEIE — H
@ S — IR — e
@ weia — favEg — T
(4) oI — SR — TR — et |
Gas transportation pipeline which passes through Kota in Rajasthan is
(1) Guwahati — Bﬁrauni — Allahabad — Kanpur
(20 Barauni — Rajbandh — Haldia
(3) H#zira_ e Vijaipur — Jagdishpur
4)  Salaya— Viramgé:ﬁ — Mathura — Delhi.

g2, et iR el mar W ¥ fg T A W TR ¥ 2

(1) BHE® @ TR

(3 g @R wER 4 TR HE R
In which state of India is red and yellow soil found ?

(1) Chhattisgarh (2) Rajasthan

(3) Jammu and Kashmir (4)  None of t.hesé.

NTSE(l)/18 — SAT-612-C



83.

84.

85.

(31) SAT-3

u fadgs Frer o @ 919 @ w59 o gget dvr fem s @ 2

(1) I59 @

(2) % gur

(3) I T [T G A H | FRl o
4) wRdE =g a9 |

In which House is the finance bill presented first ?

(1)  Rajya Sabha

(2) Lok Sabha

(3) Both Lok Sabha and Rajya Sabha anywhere

(4) Reserve Bank of India.

frfafed & 1 Tmiaes SR H e @ € 2

(1) Foremder 2) T HAE &1 9
() TE (4) e mefReE |

Who among the following is a part of the political executive ?

(1)  District Collector

(2)  Secretary of the Ministry of Home Affairs

(3) Home Minister

(4) Director General of Police.

frafafad Tomfas denst § @ HF-6 G0 §IR I F WRET A § T W
el & 2

(1) Hared = 2 IR EeE

(3) WU HAr 4) G |

Which of the following institutions can make changes to an existing law of our
country ?

(1) Supreme Court of India (2) International Court of Justice

(3) Prime Minister (4) Parliament.

NTSE(])/18 - SAT-612-C [ P.T.O.
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86. a@mmﬁaﬁﬁuﬁﬁmﬁmﬁﬁﬁ-maﬁmnﬁmaﬁmaﬁﬁvﬁﬁ

87

A E ?

(1) 9 F AYFR

(2) YA Sitfersht F1 AgFR

(3)  SAUAT UThid HI T8I HT ATUHR
(4) 3ea fewr Wit &1 TR |

Which one of the following is considered as a fundamental right according to the

Constitution of India ?

(1) Right to work

(2) Right to adequate livelihood
(3) Right to protect one’s culture

(4) Right to get higher education.

e 0T wfsrar & ey | gRfer i ¢

(&) SHoTo I G) | T ¥ e
(B) Wlo3Ro =EH (i) TY HE F W™
© Tlﬁﬁf TR (i) Y HHS & 3T
(D) = Zlodlo FWHERI (iv) oI TemEER |

(1) (A)-iv, (B) - iii, (C) - i, (D) - ii
(2) (A)-iv, (B) - ii, (C) - i, (D) - iii
(B) (A)-14, (B)-iii, (C) - iv, (D) - ii

(4) (A -iii, (B) - iv, (C) - i, (D) - ii.

NTSE(l)/ 18 - SAT-612-C
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Match the following in reference to constitution making process :

(A) B.N.Rae ) President of the Constituent Assembly
(B) B.R. Ambedkar (ii) Member of the Drafting Committee

(C) Rajendra Prasad (iii)  Chairman of the Drafting Committee
(D) T.T. Krishnamachari (iv)  Legal Advisor.

(1) (A)-iv, (B)-1iii, (C) - 1, (D) - ii

(2) (&) -iv, (B) -, (C) - i, (D) - il

(3) (A)-1i, (B) - iii, (C) - iv, (D) - ii

(4) (A)-iii, (B) - iv, (C) - i, (D) - ii.

88. IR €l = H WL FEAACT Fo It B € -

(A) TSI e ZRT T ST S F S5
(B) TG & FHE IHIGEARI §RT HH T A I Hiag
(C) A T & ferg fem-FrEw
(D) HETET % ey meagE i sAfaEdar |

() A, BC (2) A, B

3y B,C (4) C,D.

Choose the correct statement describing the word 'code of couduct' :
{A) A set of norms and guidelines to be followed by Political Parties
(B) A set of norms and guidelines to be followed by candidates in Election
(C) Guidelines for Election Commission
(D) Compulsory voting for voters.

(1) A,BC (2) A, B

(3) B,C (4) C,D.

89. YRdR HiauF F IoHH TEYHER Feted e B stfusad fhan = fgw

fet o et & 2

(1) 29+1 (2) 30+1

3 28+1 (4) 3l 1.

According to the Constitution of India, how many maximum no. of judges can be
appointed in Supreme Court ?

(1) 29+1 2) 30+1
3) 28+1 (4) 31+1.
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oo, foum uftsg & wAFN el @t e g

91.

92.

(1) (2)

(A1

(4)

O [

(3)

Bl= D=

How many members will be nominated in Legistative Council ?

W~ ¢ @ 3

@ 5 @ 3

R Sfaue & R s & AR WU # e @t g 2
(1) 744 2 754

(3 s2d 4 613 I

By which Article of the Constitution of India is the Prime Minister appointed ?
(1) 74th (2) 75th

(3) 52nd (4)  6lst.

WA % St H1 g foredk gRT A T €, 9% @

(1) @ w9 & faifaa ag&

(2) TG 99 & Gt T_E

(3) @ 991 UE T 99T & FHaifad §59

(@) @ w1, 9 Q1 OE T e aned & it e |
The Vice-President of India is elected by

(1) elected members of Lok Sabha

(2) all members of Rajya Sabha

(3)  elected members of Lok Sabha & Rajya Sabha

(4) all members of Lok Sabha, Rajya Sabha and all state legislative assemblies.

NTSE(I)/ 18 - SAT-612-C
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SAT-3

93, Tt - 1 W - 11 R T T 7T T T2 H a2

kT

(1)
(2)
(3)
(4)

gt -1

gt - o

(37) do gl () IR WHRAR
(@) T gE @ EER

(F) | g (i) E[%m

(8)  3@ERT= HFHR iv) & |

¥ & § 7T

W i v

T T S A

i v i

vooodi @

Match List - I and List - I and choose the correct code from the given codes :

(A)
(B)
(€

(D)

Code :

(1)
(2)
(3)

(4)

iii

ii

ii

iv

List -1

Union list

State list

Concurrent list (iii)

(i)

Residuary powers (iv)

ii
iii
iv

il

NTSE(l)/ 18 - SAT-612-C

v

ii

iv

iii

List - I
Computer Software
Communications
Police

Forests.

[P.T.O.
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94.

9S.

96.

97.

ATt =T IIERT &

(1)

(3) SfeTETg.

The example of capital is
(1) Water

(3) Climate

@l & A &

(1) &R

(3)  HERR

The rabi crop is

(1) Jowar

(3) Maize

ARA § HE A ARY T &
(1) R R S

3) &S

In India the currency note is issued by

(1) Reserve Bank of India

(3) NABARD
I 9E FT 8 ©

(1) WEHR
(3 %

(36)

(2)

(4)

(2)
(4)

(2)

(4)

(2)

(4)

(2}
(4)

(2)

(4)

2
4)

The source of institutional credit is

(1) Money lender

(3) Bank

NTSE(I)/ 18 - SAT-612-C

(2)

(4)

YA |

Forest

Machine.

EIGNY

T |

Bajra (Millet)

Wheat.
5% A% grea |

State Bank of India

Bank of India.

il
fgd’r |

Landlord

Relatives.



(37)
98, ademaE ¥ g & H I/ ¢
(1 (2 T TeH
(3) TR = s (@) &% Fand |
The example of tertiary sector is
(1) Agriculture
(2) Fisheries
(3) making sugar from sugarcane

(4) Banking services.

90, WA R FRT G & AR sfufas @ fear man

(1) RS, 2005 (2) FUE, 2006
3) RE=R, 2007 (4) S, 2008.
The Government of India enacted the law of "Right to Information” Act in
(1) October, 2005 (2) November, 2006
(3) December, 2007 (4) January, 2008,
100. ¥RA & TGILYG FA &
(1) Fwifa (2) ufre dzg
(3) 2 HeE (4 I

The Multinational Company of India is
(1) Infosys 2) Asian Paints

(3) Tata Motors (4) All of these.
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SAT Solutions

(A) Slope of distance time graph is constant for uniform speed
(D) Slope of velocity time graph is zero for uniform speed

my, = 50 gm
Vp =100 m/s
mgy = 10 kg
Vg="7?
Vo= v, = —-myVv, _ —501000 X 100
m, 10
v,=—-m/s
x TVZO
100m

A 4 6 u

vZ — u® = 2g (100)

0 — u? = —2g (100)

u? = 2g (100) ... (i)

and when initial velocity is doubled
(2u)? = 2gH ... (ii)

(i 2gH  4°
/') 2g(100) u?

s0, unit of frequency is (second)™.

v =AM

v =10 x 1000 x 3 x 107

(= distance =i
speed 30

tzizo.lsec.
10




10.

11.

13.

14.

15.

16.

17.

18.

19.

f=+30cm

u=-15cm

1 11

f v u

1 1 1

v 30 15

V =-30 cm

mzx_ﬁ=2
u -15

m=2

1Q 20
1Q 3Q 20
1Q 20

R., =4Q
Ae—mMWW—e
Req =%+3+§=4§2

Total power = 4 x 100 = 400 w

Total energy = 400 x 6 x 30 = 72000 w - h
=72 kwh

Total cost = 72 x 5 = 360 Rs.

When light travels from rarer to denser medium then light bends towards normal.

HCl—*—cIP
acid Conjugate base

CaS0,.2H,0—2%% ,CaS0,.%:H,0

100°C

CaS0,. ¥2H,0 formula of plaster of paris

C,HsOH slow down the process of reaction

Non metal = Si have both property of metal and non metal

CH,

2-methylprop-1-ene

T~ CH. CH~ CH CH C— NH - CH,~ CH- CH CH CH— CHr NH }

| |
) adipic acid ) hexamethylene diamine



20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

NH, Cl + NacCl
sublime not sublime

mole = % Molecular weight of N, = 2 x 14 = 28
_14
28
N
mole = —
=15 NA
—xN, =N

N = 3.011 x 10%

S—> K L M
16 2 8 6

Fe — Fe'? Fe™
Al, (CO3); [ AI® ><C0O,”]

Freon — 112 is C,F,Cl,

Mg + Cl, - MgCl, (high MP/BP)
MgCl; is ionic compound

ionic compound have high Mg (OH),

melting and boiling point water soluble

Sclerenchyma is simple permanent tissue in which lignin is present which makes it dead & it provides
mechanical strength as in the fibrous covering of coconut.

Nucleus is the headquarter of the cell which control activities of cell and discovered by Robert Brown.
Cytokinin is a plant hormone which mainly control cell division & promote growth in plants.

As Lichens are SO, sensititive and can’t grow in the area where sulphur dioxide pollution is present.
Cycas & Pinus are gymnosperms which are perennial, evergreen & woody.

Vacuole maintains the osmotic pressure in plants & maintain turgidity.

As sunlight, chlorophyll, CO, are the main elements essential for photosynthesis.

The nature of nerve impulse is both electrical & chemical, so electrochemical.

As uric acid is the main component of their excretory waste. So uricotelic.



36.

37.

38.

39.

40.

41.

Monohybrid Cross

Parents - Tall x dwarf
TT x it

VANEVAN
Gametes- M @ © ©

|

N T|T
Tt Tt
Tt Tt

F, generation - Tt (tall)

lselfing

Tt x Tt

Gametes- D © @ ©

|

o] T|t
TI|TT| Tt
Tt tt

F, generation - Phenotypic ratio- 3: 1
tall : dwarf

Genotypicratio-1 : 2:1
TT Tttt

Cartilage is skeletal connective tissue which forms endoskeleton of human body.
Echidna is a mammal & lay eggs & act as a connecting link between reptiles & mammals.
As it does not pass from one person to other, so non-communicable.

They have a pseudocoelom as the coelom is partially lined by the tissue derived from mesoderm.

3+243 _3+2J3 (3+43)

3-43  3-43 ><(3+\@)
_9+3J3+643+6 15+943

B 9-3 6

15 9

5 teY

a++/3b

a:E b:g

6 6
Ja+b =2




42.

43.

44,

45,

46.

2x2+px+8:O

D=0 pOC+x)+k =0
pPP-4(2)(8)=0 px’+px+k=0
pr=4x2x8 , D=0
p* =64 p*—4(p)(k) =0,
p=8 4pk =p
4k =p
4k =8
k=2,p=8 k=2
2 _ U2
X =pX+1) -k =x"—-px—-p-k
o, B are roots
atp=p
aff =—(p+k)
(a+1)(p+1) =6
of+ta+pf+1l =6
—(P+tk+p =5
—-p-k+p =5
K=-5
618_510
unit digit of 6'® = 6
unit digit of 5'° = 5
unit digit =6-5=1.
P
AN
Q
P< 40 4 50
Q ! S R
PS =QS
ZQPS =40 + X
/P +/Q+ /R =180
40+x+20+ 40+ x+ 50 =180
2x =30
X =15
1 1
20, 19—, 18—,.........
4 2
-3
a=20 d=— a=0
4
a,=a+(n-21d

0-20+(n-3) 2|

3
—(n=1) =20
(=D

3n-3 =80
3n =83
83

n=—

. first negative term will be 28™

=27.66



47.

48.

49.

50.

51.

!

12

90-0 l 0

— x — —— 15—

tan® = 12 tan(90—e):E
16 X
12
coto = —
12 _x
16 12
12x12
X =
16
X=9
COSA COSA
m = n=—
cosB sinB

(m?+n? cos® b

cos’A cos®A

) {cos2 B sin’B

] cos’ B

2 2
in“B B
=| 3 > +CO§ cos? Acos’B
sin“Bcos” B
= —————xcos?Acos’B
sin©Bcos“ B
CoOs’A
= > =N
sin“B
. 2
(Ratio of area); [ hy
(Ratio of area), | h,
_[(4Y) _18
9 81
x> +y* =100 A
X2+ 9y? = 144
8y’ = 44
2 = 100_y2 yz — E— 2y
2
= @ 10 10
2 Y
X=9.72 B N C
2x ~19.2 \_/
X, X+2, ..ooevr... X+ 18
10x + 90 =1200
x =111
111+113+115+117+119
Mean =

=115

5



52.

10
10
™100) 1,400
4
x = 100(5—1]
4 2
ox = 200M
4
= 50(2—2]
7
- 5o[§j
7
_ 400
7
53 Vo= a2 42 h
_ = g“(rl +1y +005)
= 1x2(4+1+2)14=@
3 7 3
54 & 2 @ 3 L
A P B
(3,5) (23 33) x,y)
5'5
2x+9 _ 23 2y+15 _33
5 5 5 5
X =7 y=9
55. Leap year
2 odd days
2
Probability = —
robability -
56. 2nr =60+ 2r

2r (n—1) =60

15 .
2r 7 =60 Circumference = 2nr

=28n
2r=28



57.

58.

59.

60.

Area of ADCEG = 2 cm?

60° 30’
30 = 30 :1_ - 601—:121
60 2 2 2
121 = 121 ¢
X = T
2 180 360
) . 3
Let diameter = 2 diameter’ = E
radius = 1 radius’ = §
4
-9
% = 16,100 =799 _ 437504
1 16
x=y)’+(y-27+@z-x’°
a®+b’+c?=3abc ifa+b+c=0

=3x-y -2 (z-x

* k k% %




10.

11.

12.

N

13.

MAT Solutions

G, K 0, S W
4 44 +4 +4

DX, HT, KQ, OM, @ —> Out of given options
- only this is possible
asR(I+1)=RJ

Reverse +1

H D, A Y X &
L IL IL Il IL |
4 3 2 -1 0

KLE, IND, GPC, ERB, CTA

\ACSAC A

4,9, 25,49, 121, 169
square of prime number

1, 3, 7, 13, 21, 43, 57
1 I 1L Il I 1L ]
+2 +4 +6 +8 +10 +12 +14

+5 +7 +9

/\/\q
5 3,10, 8, 17, 15 (6) 24
N~ S

~—__

+5 +7 +9

97, 77, 59, 29, 17
1 Il I i i ]
-20 18 -16 -14 -12

Clearly, educated women are intelligent

Educated

(P

Argument (1) is strong and (2) is weak.

Statement is true and reason is false.

Vehicle

=



14-15 _
Chemistry Physics

&
28

Maths

only Maths and physics

15. Error in question. question should be: What is the percentage of students who got distinction in at least
one subject?

16. Rest are countries but Kabul is a city.
17. Rest are cubes
R xQ’

|
18. P Q is father of P.

R
T

19. s Q

o

20. 27+81/9-6=30
21. 3, 2, 4,5 all are adjacent to 6 in figure (1), (2) and (3)
22. No such small cube exists.

23. G A S
T Z H{(reverse order)

24, B O Y
2 +15+25=42

25.
Sohan
|
Sonl+
|
Son+ — Ranjana—
N South
26 E east
W > |E
N w
S
6,4,1,2,2,8,7,4,2,7,5,3,8,6,2,1,7,0,4,1,3,2,8,6
27. L [ Ty T Ry N L L

28. Fever — Doctor — Diagnosis — Medicine — Recovery



29. 5 21 51
16 |109| 2 22| 53|19 17 |@9)| 48
6 15 13
(16 — 6)* + (5—2)* = 109 (22-15)° + (21 -19°=53  (17-13)*+ (51 —48)*=25
30. The complete form of part is whole, so the complete form of arc is circle.

31-34. By observation
35. U only vowel.
36-47 By observation

48, 20 x 32 =180, 4 x 5% = 100
S0 7 x 7° =343

49.

9 squares of 1 x 1 size
4 squares of 2 x 2 size
1 squares of 3 x 3 size
SO answer is 14

50. Top layer =1, middle layer = 3 and bottom layer = 6
Total = 10

* k k k%
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